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READ THESE INSTRUCTIONS FIRST

An answer booklet will be provided with this question paper. You should follow the instructions
on the front cover of the answer booklet. If you need additional answer booklet ask the
invigilator for a continuation booklet.

Please start your answer to each question on a fresh page of the answer booklet.

Answer all questions.

The number of marks is given in brackets [ ] at the end of each question or part question.

This document consists of 8 printed pages.
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Answer all questions

Question 1: Retail troubles

Figure 1: Restaurant prices relative to retail prices in the United States, 1929 to 2014

Restaurant prices of food products relative to grocery retail prices, where grocery retail prices are
equal to 100 (i.e. 150 would represent a 50% margin on retail prices).
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Source: hitps://ourworldindata.org

Extract 1: Cost of government regulation will mean higher food prices for consumers

The Food and Drink Federation (FDF) has today wamed that consumers will inevitably face
higher food and drink prices if manufacturers are forced to absorb the cost of proposed
government policies during the next few years. The FDF has estimated that if the cost of
forthcoming government policies were passed on directly to consumers, it would increase the
price of food and drink per household. According to estimates, the government’s proposals
could lead to an increase in food and drink spending of nearly 7%.

The FDF calculates that the cost to the food and drink industry of proposed UK government
policies around public health and sustainability is at least £8 billion. The FDF is calling on the
government to reconsider these policies and their unintended consequences, as well as
fundamental reforms to the UK’s regulatory architecture, in order to ensure future policy is
effective and well-targeted. It also argues that in the long-term any additional costs will likely
increase indebtedness, reduce competitiveness, and see investment decline, particularly at a
time when businesses are seeking to recover from a difficult period of economic uncertainty.

Source: Food and Drink Federation, 20 July 2021

Extract 2: Aldi may drop prices to compete with Tesco’s new budget venture Jack’s

Low-cost supermarket chain Aldi "will never be beaten on price” and could even drop them in
response to Tesco's new low-cost venture Jack's, it said today. UK and Ireland chief executive
Giles Hurley said Aldi welcomes competition from new players such as Jack's, adding: "If we
need to reduce retail prices we will." Aldi, he said, is not worried about its new competitor, as
"imitation is the highest form of flattery” and "it has taken us 25 years to perfect our business
model." Tesco boss Dave Lewis opened the first two Jack's stores in Chatteris,
Cambridgeshire and Immingham, Lincolnshire, last month, with a focus on budget British
produce. But its plan to open 10 to 15 stores over the next six months, often next to existing
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Tesco stores, pales in comparison to Aldi's decision today to add 400 new stores by 2025,
bringing its total to 1,200. "Customers will always pay the lowest price at Aldi," Hurley said,
stressing a mix between quality and affordability. That expansion could grow even bigger, with
Hurley admitting that Aldi may consider buying Asda or Sainsbury's stores, should the two be
forced to divest in some areas following their planned merger. Aldi said it will hire 20,000 new
members of staff to fuel its expansion, with 225 of its new stores set to open by 2022. Britain's
fifth largest supermarket grew sales by 16.4% year-on-year to £10.2bn in the UK and Ireland
last year, it revealed today, an increase from 13.5 per cent growth in 2016. This means Aldi is
growing more than five times faster than the overall grocery market, the company said. It also
attracted 1.1m new customers, and operating profit grew 26% to £266m.

Source: CityA.M, August Graham, 01 October 2018

Extract 3: The retail's evolution great acceleration

If we've learned anything from previous recessions, it's that they expose existing weaknesses,
accelerate emerging trends, and force organisations to make structural changes faster than
they had planned. This is particularly true in retail. During the great recession of 2008-2009,
e-commerce grew, and brick-and-mortar retail declined. As the economic recovery took hold,
that trend continued while off-price, discount, and emerging players succeeded by appealing
to new consumer demands.

There has been an acceleration of digital retail and online shopping. Retailers with strong
platforms and sophisticated data analysis have succeeded in connecting with consumers and
offering them additional services and value. Consumers are willing to embrace and explore
new digital experiences due to public heaith concerns - telemedicine, online learning, virtual
payments, and online grocery ordering and delivery. As the convenience of these experiences
increases, we expect these trends to accelerate.

What is clear: Retail orthodoxies will be challenged, and the industry will likely look much
different than when we entered this crisis. For now, the picture may appear bleak. But retailers
who grasp the challenge and join the gathering trends could well emerge stronger and provide
a brighter future for employees, customers, and stakeholders alike.

Source: Deloitte, accessed 10 August 2022

Extract 4: Government intervention in the retail sector

The retail sector is of paramount importance across OECD countries. It operates as a gateway
to consumers from upstream sectors, accounts for almost 5% of GDP, and employs about 1
in 12 workers. COVID-19 has dramatically disrupted the sector, with the shock differing
massively between brick-and-mortar versus online shops, essential versus non-essential
stores, and small versus large retailers.

Government subsidies to struggling firms may be particularly important in the current
economic climate. Examples of these subsidies include wage subsidies to companies for part
of the monthly wages paid to employees and rental subsidies and waivers. Such subsidies
provide aid for struggling firms to reduce their costs in order to survive in the longer term as
well as to preserve jobs in the sector. Their survival and continued operations will also ensure
that competition in the sector remains sufficient.

But there are also significant risks to competition from this type of intervention. Recessions
allow the economy to scale down or cease inefficient and wasteful activities and allow
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resources and skills to be redirected to other activities that have greater potential for growth.
By not allowing this process to take place, Government may be rewarding inefficient firms and
dampening competition. Financially sound firms are not rewarded for their efficiency and are
likely to perform worse than if the failing firms were allowed to exit the market. Unsubsidised
market participants will find it hard to compete with the inefficiently low prices supported by a
subsidy.

Source: OECD 16 June 2020 and Office of Fair Trading, accessed 13 August 2022

Questions

(a) With reference to Figure 1:

(i) Compare restaurant prices relative to grocery retail prices in the United States from
1960 to 2014. [1]

(i) Using the concept of income elasticity of demand, account for the above
observation. [2]

(b) With reference to Extract 1:

(i) Identify and explain the evidence that indicates the likely price elasticity of demand
for food for households. [3]

(ii) Explain one unintended consequence of the proposed ‘UK government policies
around public health and sustainability’. [2)

(c) Extract 2 states that low-cost supermarket chain Aldi ‘will never be beaten on price’.

With the aid of a diagram, explain how the strategy of opening many more stores than

Tesco enabled Aldi and Lidl to increase their price competitiveness. [4]

(d) Discuss whether going digital will help firms make supermormal profits. [8]
(e) Discuss whether government policies such as subsidies to support the retail sector are
justified on grounds of efficiency and employment. [10]
[Total: 30]
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Question 2: Emerging from the COVID-19 pandemic

Figure 2: Annual real GDP growth (% change) for advanced and emerging and
developing economies

Annual % change
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*Forecast real GDP growth rates for 2023-2027

Source: World Economic Outlook, accessed 22 August 2022

Extract 5: Lasting scars of the COVID-19 pandemic

The COVID-19 pandemic has struck a devastating blow to an already-fragile global economy.
Lockdowns and other restrictions needed to address the public health crisis, together with
spontaneous reductions in economic activity by many consumers and producers, constitute
an unprecedented combination of adverse shocks causing deep recessions in many advanced
economies and emerging market and developing economies. Beyond its short-term impact,
deep recessions triggered by the pandemic will likely leave lasting scars through multiple
channels, including lower investment and innovation, erosion of the human capital of the
unemployed; and disintegration of global trade and supply linkages.

Source: The World Bank, accessed 16 August 2022

Extract 6: Emerging from the great lockdown

For more than six months, the world has grappled with the severe health and economic
consequences of the COVID-19 pandemic. Global economic activity collapsed in the second
quarter of 2020, when about 85% of the global economy was in lockdown for several weeks.
As the International Monetary Fund first stated in its April World Economic Outlook, this is
without historical parallel.
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However, equally unique has been the sharp rebound of output, consumption, and
employment. With more than 80% of countries easing lockdown restrictions, the global
economy has begun to recover from the depths of the downturn. The ongoing recovery is the
result of the easing of lockdown restrictions as well as the rapid implementation and
unprecedented scale of supportive policies by the world’s central banks and governments.

This crisis, however, is far from over. The recovery remains very fragile and uneven across
countries and sectors. Many countries, including the US and UK, will face daunting fiscal
challenges in trying to reconcile the spending required to fight the crisis with rising debt levels
that could trigger debt distress.

Source: www.foreignpolicy.com, 9 September 2020

Extract 7: Reimagining emerging ASEAN in the wake of COVID-19

No nation has escaped widespread disruption from COVID-19. But while the pandemic has
affected nearly every country, its timing, the degree of its disruption, and the ability of countries
to respond have varied significantly. In its recent forecast, the International Monetary Fund
(IMF) projected that countries would recover at different speeds, reflecting the extent of policy
support, differences in the pace of vaccinations, and various structural conditions, such as the
role of tourism in the economy.

Larger, advanced economies have generally had the resources and infrastructure to weather
the pandemic and provide a solid foundation for recovery. Governments from some of these
countries more than made up for people’s lost labour income by sending them vast amounts
of money. That was the US'’s strategy. Although unemployment soared as the economy locked
down, households received more than $2 trillion in government transfers in 2020 and 2021, in
the form of topped-up unemployment benefits and stimulus cheques. The European Union
(EV) also took an unprecedented decision to mount a $900 billion stimulus programme.
Unemployment benefits and easy access to credit enabled consumers in these countries to
sustain their consumption activities.

The advanced and more affluent countries also had quicker access to vaccines, making
strides in vaccinating growing shares of their populations, raising prospects of opening up their
economies earlier.

Less-developed countries, including emerging ASEAN, which is an Economic Union of the 10
member states in the Southeast Asia, including Indonesia, Malaysia, Philippines, Thailand,
and Vietnam, began the crisis at a disadvantage, and COVID-19 exposed and heightened
their challenges. Governments in emerging ASEAN generally were not able to mount the same
magnitude of stimulus programmes as developed nations to cushion the pandemic’s blow.

What the region had done relatively better was in terms of containing the spread of the
pandemic in the early days. Although the pandemic hit the Asian region first, its countries,
including emerging ASEAN, have recorded significantly lower transmission and fatality rates
per capita than other regions, much lower than the US and the EU countries. If this trend holds,
ASEAN countries could emerge from the COVID-19 pandemic with a significantly lower toll on
lives compared with other regions, which would have positive impact on its recovery.

The pandemic had accelerated the trends towards green infrastructure and digital technology.
Advanced economies with the resources would be befter able to ride on these trends for
sustained economic growth. For example, Singapore provided financial incentives to boost
digital adoption through $350 million in digital transformation grants for businesses to support
e-payments and advanced digital-solution adoption.
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Emerging and developing economies too have an opportunity to unlock economic growth by
doubling down on green infrastructure as well as addressing basic infrastructure gaps.
Emerging and developing economies have more room to grow than advanced economies.
Firstly, there is much scope for infrastructure development. It is indeed common knowledge
that developing countries lack access to electricity, water, telecommunication facilities as well
as common transport infrastructures such as roads and ports. Infrastructure investment is a
potential engine for long-term economic growth.

Secondly, the productivity of an economy is dependent on four important factors: physical
capital, human capital, natural resources, and technological knowledge of workers. The
amount of capital available to workers in emerging and developing economies is much lower
compared to the advanced economies. Any investment in physical capital would increase
labour productivity in the emerging and developing economies much more significantly.

The COVID-19 pandemic is a story of lives and livelihoods. It remains to be seen whether the
advanced economies or the emerging and developing economies would emerge stronger from
the COVID-19 pandemic, recovering back to pre-COVID-19 growth and employment levels
and building its productive capacity.

To spur an enduring economic recovery, policy makers would need to identify and activate the
right levers, and invest in job-creating policies and technologies that could position them well
in the years to come.

Sources: McKinsey & Company, 2 September 2020 and Global Economic Effects of COVID-
19, 10 November 2021

Extract 8: Trade - will COVID-19 drive further protectionism?

Protectionism seems to be undergoing something of a renaissance, most noticeably in
President Trump’s approach towards China in trade talks. The World Trade Organisation
(WTO) recently criticised the US for imposing levies on more than $200 billion of Chinese
goods since the start of the US-China “trade war”, arguing that the US has breached global
trading rules by doing so. In response, US trade representative Robert Lighthizer described
the WTO as “completely inadequate.”

Should we be concerned about the apparent push towards more protectionism? The World
Economic Forum (WEF) does not pull its punches, arguing that tariffs (the most common form
of protectionism) reduce productivity and output, increase unemployment and raise inequality.
“These effects are robustly and statistically significant,” the WEF says, “and are large enough
in an economic sense to merit the attention of policymakers.” The pros of protectionism are
largely temporary: creating jobs and buying time to develop competitive advantage being
perhaps the most significant.

If protectionism is widely discredited as harming the macro-economy, such as here, here, and
here, why do it? “In times of economic uncertainty, it's common for politicians to threaten
protectionism to look after industries or sectors of strategic importance,” says Nick Levine, a
Chartered Accountant and adviser to small-medium enterprises. The rise in protectionism
globally has contributed to countries trading less and focusing on domestic industries,
something which is expected to continue accelerating after the pandemic.

Perhaps the reason protectionism won't go away is that the benefits of free trade take time
and are harder to measure effectively. Not all gains from trade are immediate, the WEF points
out, “and not every worker benefits.” So, “governments can feel pressure to implement
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protectionist policies and measures — including tariffs, quotas and various forms of subsidies
— as a way of ‘saving’ domestic jobs and enterprises.”

Source: The Institute of Chartered Accountants in England and Wales, 29 September 2020,
accessed on 24 August 2022

Questions

(a)

(b)

(c)

(d)

(e)

(f)

Compare the real GDP growth rate between the advanced economies and the
emerging and developing economies from 2005 to 2020.

With reference to Extract 5, explain how the impact caused by the pandemic will
leave ‘lasting scars’ on an economy in the long run.

Using a production possibility curve diagram, explain how the ‘easing of
lockdown restrictions’ might help a country achieve better resource utilisation.

Explain how rising govemment debt levels might make it difficult for a country to
achieve inclusive and sustainable growth.

Discuss whether advanced or emerging and developing economies would
emerge stronger from the COVID-19 pandemic.

With reference to Extract 8, discuss whether the use of protectionist measures
can ever be justified due to the economic damage caused by the CovID-19
pandemic.

(2]

(3]

(3]

i4]

[8]

[10]

[Total: 30]
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Answer three questions in total.
Section A

One or two of your three chosen questions must be from this section.

. Global electricity prices surged in 2021, driven by the rapid economic rebound and colder
winters and warmer summers. Policymakers should be taking action to soften the impacts
on the most vulnerable and to address the underlying causes.

Source: IEA.org, accessed August 2022

(a) Using demand and supply analysis, explain how rapid economic rebound and colder
winters and warmer summers may have led to the surge in electricity prices. [10]

(b) Discuss the policies that might be used by a government to alleviate the sharp increase
in electricity prices. [15]

. Individuals should get vaccinated to protect themselves from COVID-19 infection. This would
also provide better protection for the whole society.

Adapted from CNA, 30 December 2020

(a) Explain what needs to be considered when a government decides to provide
vaccination for its people. [10]

(b) Discuss whether free provision of vaccination is the best policy to achieve the
microeconomic objectives of a government. [15]

. The Land Transport Authority of Singapore’s Bus Contracting Model offers a tendering
process that drives competition in the bus industry and encourages the existing bus
operators to become more responsive to changes in ridership and commuter needs. The
largest public bus operator in Singapore, SBS Transit also ventures into other businesses
such as leasing commercial space at their bus interchanges.

Source: lta.gov.sg, accessed August 2022

(a) Explain the potential benefits and costs to a consumer when there is more competition

in the bus industry. [10]

(b) Discuss whether product differentiation or diversification is a more appropriate strategy

for firms in different industries when faced with more competition. [15]
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4,

Section B
One or two of your three chosen questions must be from this section.
In order to achieve the macroeconomic objectives of a country, governments may put in
place policy measures to influence economic conditions.

(a) Explain why Singapore chooses exchange rates rather than interest rates as its main
tool of monetary policy. [10]

(b) Discuss the extent to which the openness of an economy limits the scope for the use
of fiscal policy and supply-side policies to achieve low unemployment. [15]

The following data relate to the two stated economies in 2021.

Singapore Thailand
GDP/ capita (PPP USD) 116,486 19,209
Unemployment rate (%) 3.6 1.4
Consumer Price Index (% change) 23 1.2
Balance of Trade (current USD) (billions) 124.50 -1.21

Source: various

(a) Explain how economists could use the above data to compare the economic
performance of Singapore and Thailand. [10]

(b) Discuss whether higher economic growth rate is the main cause of higher living
standards in a country. [15]

Globalisation powered the surge of international trade since 1990s, and the world trade to
GDP ratio has tripled to 52.1% by 2020. Its effects on economies are multi-faceted, ranging
from higher vulnerability to external shocks and making supply chain more global, where
production is broken into activities and tasks carried out in different countries. However, in
recent years, there seems to be signs of slowing down of globalisation.

Discuss whether globalisation is always a victim of its own success. [25]
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Profits is the difference between total revenue and total costs. Extract 3 said that
‘online shopping will continue to accelerate’. Consumers increasingly are making
their purchases online rather than buying from brick and mortar stores. Firms can
increase demand for their goods due to this change in taste and preference, by
also selling online to complement their brick and mortar stores. Online shopping
also expands demand for the firms’ goods as the firms can sell beyond their own
locality and can even go international.

Figure 1 shows a rightward shift of the AR and MR curve from ARq to ARy. At the
profit-maximizing output of Qo, where MC=MR, the firm is making normal profits
as TR is equal to TC, OPoGQo. Assuming no change in costs, the rise in demand
increases the equilibrium output to Q; where MC cuts MRy and the price is higher
at Pq instead of Py, TR (OP+AQ4) is now higher than TC (OPBQ4) and the
supernormal profits is area P1APB.

Revenue, Cost

AR1

MR1  ARo

0 QoQs &cm:zQ

Figure 1

In addition, going digital can also help a firm to cut costs. For brick and mortar
stores, they can cut down the number of physical stores and reduce the number
of employees as well as the amount of inventories. As both rent and wages take
up a big proportion of a retailing firm's total costs, their cost savings can be
significant. This will reduce both their fixed and variable costs which then shifts
their AC and MC curves downwards. As seen from Figure 2, the profit-maximizing
output increases from Qo to Q4 and the firm's TR revenue is unchanged but TC is
reduced from OPyGQo to OPBQ. The firm is now making supernormal profits of
PP1AB.

_u_..om \ Revenue, Cost

ARo

0 QoQ Dw:n2=<
Figure 2

P2: However, going digital may not necessarily increase a firm’s profits. Demand
may not increase, nor cost be lower.

Extract 3 mentioned that only ‘retailers with strong platforms and sophisticated
data analysis have succeeded in connecting with consumers’. Firstly, the retail
sactor is very much a monopolistically competitive market. There are many other
sellers - some small like hair dressing but there are large sellers like Tesco. it
may not be too costly for a firm to set up an online platform especially when there
is a lot of information from the internet as well as many web developers offering
their services online. However, only the best oniine platforms which have both
convenience, security, and other attractive features based on their data analysis
of consumer preferences that are best able to get consumers to make purchases
from their online stores. It may be very costly to be able to set up an online
platform that is way better than others.

Likewise, demand may not increase if the platform is not user friendly, where
payment security is an issue or where delivery is not prompt or charges too high.
It is similar to the idea of advertising. Not every firm that advertises is bound to
be able to increase demand significantly, not to mention the high costs of
advertising. Thus, if the increase in demand is lesser than the increase in cost or
vice-versa, a firm that goes digital may not make supernormal profits.

Even for those firms that earned supernormal profits in the short run, their abitity
to continue to eam supemormal profits in the long run would depend on whether
they are able to strengthen their online presence such that it becomes a high
barrier to entry.

In conclusion, given that there is the shift of consumers shopping habits to anline
shopping, it is a huge disadvantage for firms not to recognise this and act
accordingly. But it is no guarantee that a firm will necessarily make supemnormal
profits by just going online. As seen from above, it depends on whether their
online platform is able to increase demand as well as their ability to manage the

cost of setting up and maintaining this platform. Besides the quality of the online
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output at an even higher LRAC. However, government support is only temporary
as the government made it known that it was due to the entire retail sector that
suffered from the pandemic that necessitated government support. No
intervention will lead fo even greater productive inefficiency as there will be
greater unemployment. Firms also cannot afford fo be complacent even with
subsidies because of the severity of the fall in demand. Firms also may choose
to be overstaff in anticipation that in the future there can be a rise in demand and
therefore they will not face a staff shortage.

With regard to employment, the success of government support would depend on
the amount of the subsidy given, the duration of the support as well as whether
the policies to address the pandemic are removed or whether they are prolonged.
Too little subsidies for too short a time period would not help struggling firms to
survive and there will still be substantial rise in unemployment.

Conclusion:

Whether government support of the retail sector is justified or not would depend
on the time period, the severity of the unemployment problem at that point in time
and whether the benefits outweigh the costs of intervention. Government support
is only temporary to help all retailers to tide over a very difficult period brought
about by the COVID-19 pandemic and so the risk of complacency is not as great.
The adverse impact on the retail sector is very great and if no assistance is
rendered, large-scale exit of firms from the retail sector would cause more harm
than the opportunity cost of subsidies to support them. Consider the harm from
the extensive shortages of goods when the economy recovers from the pandemic
due to the disappearance of retail firms as well as the difficulties of reestablishing
a thriving retail sector, the conclusion is clear that government intervention is
justified as benefits outweigh the costs. As mentioned in Extract 4, the retail sector
is of ‘paramount importance’ as it is the ‘gateway to consumers from upstream
sectors’. The collapse of the retail sector would have adverse repercussions on
the rest of the economy as there are many other industries that have close
linkages to the retail sector such as tourism, the transport sector etc. The
complacency mentioned above is not likely to-be prolonged as the market will
eventually drive out inefficient firms once the subsidies are removed, and it is
likely the government will do so because it is a strain on the government budget
to prolong the support. Thus, the retail sector must be supported for both
employment and efficiency reasons in the context of the pandemic.

Question 2: Emerging from the COVID-19 Pandemic

(a

Compare the real GDP growth rate between the advanced economies and
the emerging and developing economies from 2005 to 2020.

i2]

Any 2 of these 3:

e Real GDP growth rate for both advanced economies and emerging and
developing economies generally fell between 2005 to 2020.

« Real GDP growth rate for advanced economies fell to negative in 2008-2009
and again in 2020 while real GDP growth rate for emerging and developing
economies were positive in 2008-2009 and only negative in 2020.

« Real GDP growth rate for emerging and developing economies was always
higher than the growth rate for advanced economies.

(b)

With reference to Extract 5, explain how the impact caused by the
pandemic will leave ‘lasting scars’ on an economy in the long run.

3

Extract 1 states that the pandemic led to lower investment and innovation’. The
fall in investment will lead to a fall in the level of capital stock in the economy,
lowering both the quantity and quality of factors of production in the economy
while less innovation would lead to less efficient production of goods and
services.

Extract 1 also states that the pandemic will lead to ‘erosion of the human capital
of the unemployed'. Prolonged unemployment will lead to erosion of skills where
workers become less familiar and efficient in their jobs, leading to a loss of
productivity.

The above will lead to a fall in the productive capacity of the economy, fall in
LRAS and fall in the maximum level of potential output, impeding potential
growth.

(c)

Using a production possibility curve diagram, explain how the ‘easing of
lockdown restrictions’ might help a country achieve better resource
utilisation.

[3]

During the lockdown, many workers were unemployed or unable to work. The
economy will be operating at point A, which is within the PPC, indicating
inefficient utilisation of resources.

Capital
goods

v

C goods
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incentives to SMEs and businesses to boost digital adoption; stimulus package
includes support for reskilling and redeployment. These policies protect jobs
and prepare the economy ready for new growth areas such as advanced digital-
solutions. Such goverment expenditure not only increase AD and actual
growth, it also improves the quality of resources in the economy and increase
its productive capacity, increasing LRAS and potential growth. Emerging and
developing economies on the other hand, lack the resources to capitalise on
such trends to reap faster rates of economic growth.

P2: Emerging and developing economies could emerge stronger

On the other hand, it is possible for emerging and developing economies to
emerge stronger. Extract 7 states that countries in the Asian region, including
the emerging ASEAN economies, experienced lower death rates from the
pandemic compared to the advanced economies in Europe and US. Thus this
means that the extent of fall in quantity of human capital is fower and their
productive capacity was less severely affected as the developed economies.
Thus they may have greater potential for growth and could achieve higher
growth rates in future.

As explained, there is huge potential for growth in green infrastructure and
digital technology. While governments in emerging and developing economies
are unabile to provide huge amount of support grants to their domestic firms,
there is much greater scope to improve their basic infrastructure and build green
infrastructure. They lack even basic infrastructure so there are definitely more
opportunities for infrastructure spending and development, and more scope for
increase in AD and economic growth. Whereas infrastructure development is
already mostly matured and fulfilled in advanced economies so these is less
scope for these economies to grow through this source.

Furthermore, emerging and developing economies are generally operating way
below their full employment. Increases in FDI and government spending would
increase AD and bring about the full multiplier effect and larger multiptied
increase in real national income.

In the long run, the improvement in infrastructure will increase productive
capacity and increase LRAS and help these developing economies achieve
potential growth too. In contrast, advanced economies mostly do not have such
gaps in infrastructure and thus less scope to tap on this opportunity. In this
regard, emerging and developing economies have greater potential to emerge
stronger in terms of potential growth.

EV

Overall, advanced economies are in a better position to grow stronger as they
have more resources and better technology. In the context of the pandemic, the
pivot towards digitalisation and automation is significant due to the lockdowns
and supply chain disruptions. Such technology is still better developed in the
advanced economies and therefore advanced economies are better able to
capitalise on these trends and enjoy faster rates of economic growth.

And although some of the emerging and developing economies were able to
contain the spread of the pandemic in the early days, the advanced economies
had quicker access to vaccines for their population and were eventually able to
lessen the impact of the pandemic and protect the productive capacity of their
economies.

OR

Figure 1 shows that emerging economies have been registering higher rates of
economic growth. Also, despite not being able to mount huge stimulus
programmes, Fig 1 shows that their fall in real GDP growth was less severe
than that experienced by the advanced economies. Forecast growth was also
higher. Thus if these economies could capitalise on the growth opportunities
accelerated by the pandemic, they could recover more quickly and enjoy higher
rates of economic growth. To do this, the govemments need to put in place
policies to support growth in these areas.

Mark Scheme

Balanced and well-developed analysis of why advanced |
and emerging and developing economies could possibly
emerge stronger. Good reference to context.

L1 | One-sided answer that only explains either advanced ; 1-3
economies would emerge stronger, or emerging and
developing economies would emerge stronger.
Reasons given are cursory.

Or a balanced answer that only lifts from extracts without
any explanation.

EV | For an evaluative judgment on which economies might | 1 -2
emerge stronger from the pandemic.

"

With reference to Extract 8, discuss whether the use of protectionist
measures can ever be justified due to the economic damage caused by
the COVID-19 pandemic.

[10]

The COVID-19 pandemic had led to significant fall in all economic activities,
including consumption, investment and trade. These had fed to significant fall
in economic growth and employment.

Hence one reason for the use of protectionist measures is to protect domestic
industries and employment. As stated in Extract 8, tariffs is a common
protectionist measure.

In the short run, protectionist policies can be justified as the pandemic had
affected almost all the sectors across the economy. These major sectors are
flikely to account for a large percentage of employment in the country. In
particular, retrenchment and unemployment is likely to be significant in export-
led industries due to the fall in global demand and consequent fall in production.
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Students were able to present various costs and benefits for
protectionism. However, many did not link their answers to the
context (Covid-19 pandemic).

AR

» Some answers did not provide examples of protectionism such
as a tariff to support the reason(s) and demonstrate analytical
rigour of the benefits and costs of a tariff.

« For example, rather than just provide a statement to say that
protectionism is justified to protect infant industries, students
should go on to elaborate why itis so crucial to protect the infant
industries in light of the pandemic.

CK

No major content issues as students seem to be familiar with the
possible costs and benefits.
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>:‘w=,m,im_.,§,mn u_hosamw a clear and thorough explanation of both factol
given in the preamble. A clear elaboration on the application of PES
(elasticity concept).

L2 An answer that provides a good explanation of both factors in the 5-7
preamble. Some elaboration on the application of PES (elasticity
concept).

L1 An answer that demonstrates weak knowledge and application of the 1
characteristics of market, possibly with muitiple conceptual errors.

Part (b)

Introduction

Given that electricity is used to operate many of our equipment in households, commercial
services and industrial needs, it is important for the government to intervene through a variety of
policies to address the sharp increase in electricity prices.

Policy: Subsidies to develop alternative more sustainable sources of energy

To address the rising electricity prices, the government can intervene by providing a subsidy to
encourage technology and innovation to develop alternative more sustainable sources of energy.
For example, in the US, as the government recognises the economic and environmental benefits
of using renewable energy to meet the electricity demands, the US govemment issued US$12
billion worth of subsidy in 2012, where a record of 6,700 wind turbines were instalied and US$25
billion of private capital was invested. This brings wind capacity to about 3.5% of the country's
electricity supply which is enough to power 15 million homes. And by 2030, 20% of America’s
electricity demand can be met by wind energy.

Progressively, more countries are generating electricity from renewables such as hydropower,
wind and solar energy instead of electricity generated from coal plants. Thus, governments can
provide subsidies to produce renewable energy. By providing a subsidy, it lowers the cost of
production of renewable energy and hence more profitable for the producers, ceteris paribus.
Producers are more willing and able to supply, leading to an increase in supply for electricity.
Supply curve shifts to the right, from SS, to S8, as shown in the figure below. The increase in
supply leads to a surplus and hence downward pressure on price from Po to P+. Thus, equilibrium
price falls.

Price
Y
Po
Py
¥
+
]
1
H
' __ Quantity of
0 Q Qs electricity

Figure : Market for electricity
Limitation:

However, providing subsidies may put a strain on government's budget. This may result in
resources being diverted from other areas such as education and healthcare in order to
accommodate the provision of subsidies. Furthermore, it takes time for this research and
development of using alternative energy sources to generate electricity extensively. Hence this
may not be able to address the current problem of rising electricity prices in the short run. Aiso,
the cost of generating electricity from renewable energy sources is higher than from burning coal,
thus many govemments may not be willing to provide subsidies for renewable energy sources to
generate electricity and continue to use coal-fired electricity powered plants.

Policy: Promote the use solar panels to generate own electricity via solar power

The Singapore government could encourage more households to install solar panels in their
homes to generate their own electricity via solar power rather than reliance on natural gas which
is used to generate 95% of Singapore’s electricity supply. This can be done by organising
campaigns or create advertisements to increase awareness of generating your own electricity.

The solar panels can be used to fuel the house’s electricity needs when the sun is out in the day
while on rainy days and at night, it will rely on the national energy grid. Through the use of these
solar panels, it reduces the demand and dependency for electricity on the grid (external sources),
which can lower the electricity prices in the market. In addition, as the homes are not able to store
the excess electricity that is generated, it can be sold to private retailers of electricity. When there
is an increase in the supply of electricity, prices may be lowered.

The decrease in demand has led to a surplus of Q2Qo at the original price Po. Producers will find
that they are unable to sell all of their output at P and compete to sell their excess stock by
lowering prices. As price decreases, consumers seeking to maximise satisfaction will increase
quantity demanded. This downward pressure on price causes a movement along the demand
curve (DD4) as well a movement along the supply curve (SS). The process continues until the
surplus is eliminated with a new market equilibrium at E1. Thus equilibrium price has decreased
to Py and equilibrium quantity has increased fo Q1.
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L2 | An under-deveioped, balanced answer on polices deal with rising electricity | 57
prices, with inconsistent use of examples and gaps in analyses.
L1 | May have many and/or serious conceptual errors. May have relevant points | 1 -4

that were made incidentally.

For an answer that arrives at an analytically well-reasoned judgement about
government decisions to implement policies to address rising electricity
prices. Might also question any unstated assumptions to arrive at this well-
reasoned judgement.

E2

For an answer that makes some attempt at evaluation, but does not explain
adequately their judgement or base it in analysis, about their judgement on
government policies to deal with rising electricity prices.

E1

Eor an answer that gives an unexplained, unsupported evaluative statement
on government policies to deal with rising electricity prices.

Question 2
Individuals should get vaccinated to protect themselves from COVID-19 infection. This would also
provide better protection for the whole society.

Adapted from CNA, 30 December 2020

(a) Explain what needs to be considered when a government decides to provide vaccination for

its people. [10}
(b) Discuss whether free provision of vaccination Is the best policy to achieve the microeconomic
objectives of a govemnment. [15]
Suggested answer:
Part (a)

In deciding on providing vaccination for its people, the government will choose to maximise social
welfare by considering various factors such as the constraints faced, the costs and benefits of the
decision, various information and the perspectives of different stakeholders.

The government has to consider the financial constraints such as whether there is sufficient tax
revenue to pay for it which may limit its available choices. If the government does not have
sufficient tax revenues to pay for the vaccination doses, they will not be able to provide vaccination
for the entire population. Mareover, another major constraint is the difficulty of obtaining accurate
information such as the potential benefits and costs of the vaccination such as the long-term side-
effacts of the vaccination. If the side-effects of the vaccination could be potentially harmful for
certain groups with underlying condition, then the government may not make it compuisory for all.

Next, the government will have to consider the costs and benefits of providing vaccination to its
people. For example, provision of vaccination reaps bensfits as the consumption of it generates
significant external benefits which are benefits to third parties who are not directly involved in the
production and consumption of the good and for which they are not compensated. When one
consumes the vaccination, he/she will be healthier and be more productive. His employers will
benefit when the vaccinated employees take lesser sick ieave and raise the productivity of the
workforce, hence contributing to more profits to the employers.

With a more productive labour force, it could attract investors and lead to an increase in
investment expenditure and thus AD. This leads to a multiplied increase in real national income,
achieving actual growth. With a productive labour force, it could also mean that there is increase
in productive capacity, leading to increase in LRAS and thus potential growth.

In addition, the government will have to weigh benefits against costs. Costs can be both explicit
and implicit. One explicit cost is a major consideration as the decision to provide vaccination
must be financed using tax revenue. For example, the government must calculate the cost of
vaccination doses and even manpower cost to administer the doses.

Moreover, the government will need to consider opportunity costs, which is known as the value
of the next best alternative forgone. By spending to buy the vaccination doses, the government
would have to give up the societal wetfare that could have been gained, should the funds be
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However, free provision of vaccination may not be the best policy to achieve the
microeconomic objectives of a government.

In addition, providing full subsidy for vaccination may also put a bigger strain on a government's
budget, especially when the government is already running a budget deficit. As shown in the
diagram, in the event where the divergence between MSB and MPM is minimal, free provision of
vaccination might result in a greater deadweight loss Area B as compare to Area A before the
subsidy, leading to a more inefficient allocation of resources in the market for vaccination. The
depletion of government reserves also means that resources being diverted from other areas in
order to accommodate the provision of subsidies such as education. As education is a good that
generates positive externalities, less education subsidies will lead to underconsumption of
education available thus worsening efficiency in this market.

Figure 2: Over-subsidy

Costs/Benefits

4 MPC = MSC

MPB

MPC with full subsidy

- Quantity of vaccination

Moreover, consumers also suffer from imperfect information in the consumption of vaccination.
They may underestimate the true benefits of vaccination as they might be unaware of the long
term benefits on being vaccinated. Making vaccination free does not address the root cause of
the problem and there is an over reliance to use funding as a way to increase consumption of
vaccines.

Furthermore, it is not equitable to give a common subsidy rate as consumer’s positive externality
may differ. However, to grant each consumer a subsidy that matches its externality would be
costly for the government as it would require more manpower, time and paperwork, resulting in
an inefficient use of resources.

Other policy may be the best policy to achieve the microeconomic objectives of a
government. Provision of information may be the best policy to achieve the microeconomic

11

objective due to the presence of imperfect information. Consumers who consume vaccination
may underestimate their future benefits (i.e. longer lifespan, potential earning from being more
productive) as they may not have complete information about the full longer-term benefits from
consuming vaccination, ieading to a divergence between their perceived Marginal Private
Benefit (MPBjercsived) and the actual Marginal Private Benefit (MPBacua) as shown in Figure 3.

Consumers will consume vaccination up 10 Q., where MPBperceives = MPC but the socially
optimal output level is at Qs, where MPBaxwal = MSB = MSC. Hence, consumers’ imperfect
information has led to an inefficient allocation of vaccination. Thus, provision of information may
be the best palicy to achieve efficiency due to this reason. By raising the awareness of the actual
benefits of vaccination through campaigns or printed materials, consumers’ perceived benefit of
vaccination is increased, leading to higher consumption. The divergence between perceived
and actual benefit of consuming vaccination will be remaved (i.e., MPB gerceives Shifted to MPBactua
in Figure 3). The socially optimal quantity of vaccination consumed will then be achieved. Thus,
achieving the microeconomic objective of efficiency.

Oommm\mw:maw

MPC = MSC

All in all, whether free provision of vaccination is the best policy to achieve the microeconomic
objectives of a government depends on the government’s budget and the types of vaccination. If
the government is limited by the financial constraint, it will not be able to purchase sufficient
vaccination for its people to achieve efficiency and equity. For example, Singapore is able to
provide free vaccination as she can tap on her past budget surpluses to do so. In this case, free
provision may be the best policy to achieve the microeconomic aims.

Moreover, it also depends on the type of vaccination and the target size. If it is of top urgency for
such vaccination to be available to the entire population, then it may be the best for the
government to provide for free. For example, the impact of covid-19 virus and the worldwide
outbreak were quite significant in 2020, thus it was of upmost importance to vaccinate the entire
population at that point in time. In this case, it may be the best policy for the government to provide
for free to ensure that everyone has access to it.

12
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Additionally, allowing more competition means that consumer have more choices as other bus
operators enter the market given a lower barrier to entry. As the bus industry in Singapore is likely
to be oligopotistic by nature, the increase in competition and the mutually interdependent nature
of the bus operators will mean that the action of one firm will affect the actions of other rivals. This
imply that when one firm (eg. SBS) engages in innovation to improve the bus service experience
of the commuters, other firms such as SMRT will follow suit. To maintain their barrier of entry —
the license provided by LTA, firms will also have the incentive to innovate, they will tap on their
supernormal profit (due to high barrier of entry) to bring about better quality of their bus services.
Al in all, bringing about an increase in consumer welfare.

Requirement 2- Costs

However, there might be a fall in consumer welfare as an increase in competition may bring about
a loss of cost advantages. Technical economies of scale (EOS) is a main type of internal EOS
enjoyed by bus operators. This can be in a form of the cost savings a firm makes as it grows
targer, arising from the increased use of large scale mechanical processes and machinery such
as double decker buses. With more competition means that each bus operator is likely to suffer
a fall in bus ridership especially in a small economy such as Singapore, where there is a limited
domestic demand, a fall in quantity leads to less internal EOS, as they will employ less buses,
leading a higher MC since a higher AC also means a higher MC. Thus, the fall in EOS will shift
the MC to the left from MCO to MC1. The bus operator is likely to pass the increase in cost to the
consumers causing an increase in prices and therefore, a loss of consumer surplus of area
POP1BC since initial consumer surplus was shown by the area ABPO, with new area P1AC after
the loss of internal EOS, resulting in a fall in consumer welfare.

Also, the fall in revenue and cost advantages might result in a fall in their supernormal profits, as
such, firms might not have the sufficient funds to innovate and improve the quality of the bus
services, leading to a fall in consumer welfare.

Price/
Revenue / A
Cost

P

Po

Quantity of SBS
Bus Services

| For a im__-nm«m_oumn answer ,._:mm:cm,om, m:w_<m~w, Aim,az,n “reference to |
changes in AR and costs curves to link to price and/or consumer surplus) to
explain both benefits and costs of more competition in the bus industry.

L2 | Under— developed explanation on increased competition in the bus industry | 5-7
may have both positive and negative impacts; or one that uses analysis to
explain only one possible impact.

L1 | Knowledge of impacts of an increase competition in the bus industry will } 1-4
impact consumers e.g. unexplained statements,

Partb
Introduction:

Product differentiation refers to the process of distinguishing a product or service from rivals while
diversification is a practice of firm introducing new product into the firm's supply chain in order to
increase profits. There are four types of diversification: concentric, horizontal, vertical and
conglomerate. Concentric diversification refers to the development of new products and services
that are similar to the one the firm is already selling. In horizontal diversification, a company
adds new products to its operation. These products or services are entirely new but will bear
some relation to the original product, offering an expanded set of aptions to the customer. For
example, a gaming company getting into the virtual reality business is a horizontal diversification.
In vertical diversification, also known as vertical integration, a company expands to include
different portions of the manufacturing process under one corporate structure, usually by
moving up or down the supply chain. When a company diversifies by acquiring a different
company in an entirely unrelated field or new industry it is called it's known
as conglomerate diversification. This essay will discuss on whether product differentiation or
diversification is a better strategy for oligopolistic and monopolistic competitive firms.

for some firms.

In a monopolistic competitive industry where there is many sellers and low barriers to entry, the
level of competition is high. The AR and MR of these firms are relatively flatter than those in other
imperfect markets since there are many substitutes available in a monopolistic competitive
industry. In view of competition, it is important for these firms to engage in product differentiation
leading to more imperfect information so as to maintain some control over price via a downward
sloping demand curve where AR>MR. As such, At the same time, production differentiation in the
form of advertising (eg H&M clothing) can create changes in taste and preferences leading to an
increase in demand for their good. This strategy allows a firm like H&M to increase their profits
from area P1ABC to area P2EFG when AR and MR becomes steeper and shift to the right from
AR1 to AR2 and from MR1 to MR2. In addition, by making the demand for the good to be less
price elastic, the firm does not have to engage in a price war indefinitely with her rivals.

16
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For an answer that shows knowledge of product differentiation and
diversification strategies taken by different firms.

i i RN £
For an answer that arrives at an analytically well-reasoned judgment about
whether product differentiation or diversification is a better strategy to
increase profits among firms.

E2 | For an answer that makes some attempt at a judgment about whether 2-3
product differentiation or diversification is a better strategy to increase profits
among firms.

E1 | For an answer that gives an unsupported judgment about whether product 1

differentiation or diversification is a better strategy to increase profits among
firms.

Question 4
In order to achieve the macroeconomic objectives of a country, governments may put in
place policy measures to influence economic conditions.

{a) Explain why Singapore chooses exchange rates rather than interest rates as its main
tool of monetary policy. [0}

(b) Discuss the extent to which the openness of an economy limits the scope for the use
of fiscal policy and supply-side policies to achieve low unemployment. [15)

Suggested answer:
Part (a)

Monetary policy instruments, such as interest rates or exchange rates are used to achieve
macroeconomic objectives in terms of price stability and/or Gross Domestic Product (GDP)
growth outcomes. Monetary policy in Singapore has been centred upon management of the
exchange rate since 1981, with the primary objective of promoting price stability as a sound basis
for economic growth.

The choice of the exchange rate as the preferred instrument of monetary policy in Singapore is
predicated on the openness of the Singapore economy to trade and capital flows. Indeed, the
small size and high degree of openness of the economy is evidenced by the high ratio of its
international trade relative to GDP. “Gross exports and imports of goods and services are more
than 300% of GDP and almost 40 cents of every dollar spent domestically is on imports.”
Consequently, changes in the value of the trade-weighted Singapore dollar have a significant
influence on domestic inflation and GDP outcomes.

Thus, exchange rate policy rather than interest rate policy is more appropriate to address inflation
in Singapore. A gradual and modest appreciation will lead to a fall in the domestic price of
imported raw materials, this will lead to a fall in cost of production of goods and services in
Singapore, resulting in an increase in profitability and thus a rise in SRAS from ASO to AS1 (Figure
1). This will help to alleviate imported cost-push inflation as Singapore is a small economy that
lacks natural resources and is import reliant.

Appreciation of SGD will also tackle demand pull inflation. Appreciation of SGD will mean that the
price of Singapore exports will rise in foreign currency while price of imported goods and services
will fall in SGD. Price elasticity of demand for export (PEDx) is likely to be more than one due to
avallability of substitutes from other countries, thus Marshall-Lerner condition holds where the
sum of price elasticity of demand for exports and imports is more than one. Appreciation will lead
to worsening in balance of trade which may mean that net exports (X-M) may fall. Fall in X-M will
lead to a fall in AD to AD1 as AD=C++G+(X-M). The fall in AD will lead to a surplus of goods and
services, leading to a fall in general price level as firms reduce prices to clear excess stocks.
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Part (b

In oamw to achieve the macroeconomic objectives of a country, governments may put in place
policy measures to influence economic conditions. They do this by influencing either aggregate
demand through demand-management palicies like fiscal policy and/or aggregate supply through
supply-side policies. When a government aims to achieve low unemployment through fiscal policy
and supply-side policies, it may be limited by various factors such as openness of the economy.
Openness of an economy may refer fo the openness to trade, labour flow, capital flow and
competition.

When an economy is faced with demand-deficient unemployment during worldwide recession, a
government may implement expansionary fiscal policy through increasing government
expenditure (G) and lowering tax rates. With a decrease in personal income tax, consumers’
disposable income increases, leading to increase in purchasing power and thus consumption
expenditure (C). With a decrease in corporate tax, producers' after-tax profit increases, leading
to an increase in investment expenditure (1). With the increase in G, C, I, there will be an increase
in AD. This leads to unplanned stock depletion and as firms step up production, there will be an
increase in derived demand for labour, addressing the demand-deficient unemployment.

However, openness of an economy can limit the scope of fiscal policy in achieving low
unemployment. When the economy is open to trade, this means that there is high marginal
propensity to import which will lead to a small multiplier value as multipiier is computed by
1/(marginal propensity to tax + marginal propensity to save + marginal propensity to import). The
more open an economy is, the higher the marginal propensity to import is and thus the smaller
the multiplier value will be, this means that there are more leakages out of the circular flow of
income. Hence the value of the muttiplier will determine the total change in national income when
government expenditure changes. For example, an open economy like Singapore will have a
small multiplier value due to high marginal propensity to import. Thus, any increase in injections
will lead to a smaller increase in real national income and thus smaller increase in employment,
limiting the scope of fiscal policy.

When an economy is faced with structural unemployment, a government may implement supply-
side policies to provide training and upgrading of skills to improve the quality of labour. For
example, there could be structural changes in the economy as the economy transits and develops
her comparative advantage, leading to fall in demand for labour in sunset industry and rise in
demand for labour in the sunrise industry. Those who are unemployed may not be able to find
jobs in the sunrise industry due to mismatch of skills. Thus, supply-side policies such as training
and upgrading of skills aim to address such structural unemployment. For example, the
SkillsFuture Career Transition Programme in Singapore aims to support mid-career individuals to
acquire industry-relevant skills to improve employability and pivot to new sectors. With the training,
those who were unemployed due to mismatch of skills would be able to acquire the relevant skills
to improve labour mobility and thus take on jobs in the sunrise industry.

Also, openness of an economy can limit the scope of supply-side policy in achieving low
unemployment. When the economy is open to competition, they will need to constantly explore
new niche areas to remain competitive. Also, when an economy is open, there is a freer mobility
of capital, foreign firms might shift their production line elsewhere more frequently when they
deemed that costs are lower elsewhere. This will then result in changes in the structure of the
economy to adjust to the new niche areas which may result in increase in demand for labour with
skills different from the current market. The government may provide support for such labour but
the pace of restructuring may be faster than the pace of retraining. In this case, the dynamic
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environment due to the openness may not be on par with the training scheme. For example, it
takes time to train people for a specific skill but that skili may be redundant after a while due to
the fast changing trends/ economic needs.

However, the openness of an economy does not limit but instead, enhance the scope of
fiscat and supply side policies. Supply side policy such as providing a more skilled workforce
can help to attract more investment not only domestic investment but also foreign direct
investment since a more open economy allows a freer mobility of capital. An increase in FDI is
fikely to bring in their foreign talent expertise which will turn help to train the workers in the
economy to take up jobs in the sunrise industry, reducing structural unemployment. At the same
time FDI may increase investment in capital goods bringing about an increase in AD and a fall in
demand deficient unemployment. The reduction in corporate tax rate via fiscal policy might also
attract more investment as foreign firm would consider the relative tax rate across countries to
decide on where to invest. Openness of the economy enable foreign firms to shift their production
to the country is the government offers a more competitive corporate tax rate. Therefore, to a
large extent, when the economy stay competitive in tax rates and in workforce, to a large extent,
the openness of an economy does not limit the scope of her policies.

In addition, there are other factors which limit the scope of fiscal and supply-side policies
such as crowding-out effect. Crowding-out effect occurs when an increase in government
spending due to an expansionary fiscal policy reduces other types of spending such as investment
spending by firms and consumer spending such that overall AD does not increase at all (full
crowding-out effect) or might increase in a limited way (partial crowding-out effect). Discretionary
fiscal policy therefore, becomes less effective at reducing unemployment. Crowding-out effect
can happen when government finances an expansionary fiscal policy via borrowing from the
financial market (ie. banks). This is because an increase in government spending might take up
scarce financial and real resources from firms and households, leaving them with fewer resources
to make use of. For example, if the government competes with firms or/and households for a fixed
pool of loanable funds, interest rates may be driven up. The higher cost of borrowing loans
reduces borrowing by firms/households leading to reduced investment spending and consumer
spending respectively. This dampens the expansionary effect of the initial rise in government
expenditure on the economy.

All in all, whether openness of an economy may limit the scope for the use of fiscal policy and
supply-side policies to achieve low unemployment depends on the characteristics/ nature of the
economy. For example, when an economy like Singapore is small and very open, openness may
be a significant factor as she has less control on the external factors and lacks the domestic
capacity to buffer any external shocks as compared to a big and open economy like USA. For
USA, they have a bigger domestic market and can switch to their domestic components as buffer
more easily. In this case, the extent to which Singapore can use fiscal policy to achieve low
unemployment will be more limited as compared to the bigger economy.

However, Singapore can also reap benefits from being very open. For example, when Singapore
faced structural unemployment as explained above, she could actually tap on the openness to
enhance her palicy option by allowing inflow of skilled tabour more easily. in this way, the pool of
foreign skilled labour would be able to address the gap in the skills demanded and thus addressing
the structural unemployment. Therefore, this also attributes to the government's ability to adopt
the right policy to tap on the opportunity that openness can bring.
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home. For example, S$10 may exchange for, say, 250 Thai Baht but S$10 may not buy the
same amount of goods in Singapore as 250 Thai Baht in Thailand.

In order to better analyse the economic performance of countries, it would be even better if the
previous year PPP adjusted GDP per capita is included so as to compute the economic growth
rate.

Other than the usual key indicator raised above, another measure that can indicate economic
performance of a country is also its unemployment rate. Based on the above data, Singapore’s
unemployment rate in 2021 was at 3.6% which was higher than that of Thaitand’s 1.4%, which
could possibly indicate that Thailand could possibly be performing better than Singapore in
2021 as lower unemployment rate in Thailand suggests most of the labour resource in the
country have been effectively mobilised/u ed to produce a given level of output. Therefore,
even though PPP-adjusted GDP per capita is a good indicator to use to compare economic
performance, it may not be holistic. Although a country may be generating high output levels, it
may be short of its potential. Another country that may not be producing that high a level of
output may be fully utilising its resources. Hence, the spread of the economic activity in the
country may also be important in determining performance of the economy.

In addition, when economists compare economic performance across countries, it may also be
in their interest to find out whether countries that record high growth are growing at a
sustainable rate or whether the growth rates registered are rapid but unsustainable growth
rates. For this, economists may turn to look at percentage changes in inflation rate to determine
whether a country is overheating and the possible outcome of this on future growth. Based on
the above data, both countries inflation rates were considered relatively low, 2.3% for Singapore
and 1.2% for Thailand, which suggests that the increase in the cost of living is lower for Thailand
compared to Singapors, therefore in based on this aspect, Thailand may be seen as performing
better than Singapore.

Balance of Trade (BOT) position can also provide an indication of different countries’ external
economic performance. Based on the above data, Thailand has a balance of trade deficit of
1.21billion whereas Singapore has a trade surplus of 124.5billion, which likely suggest that
Singapore is performing better as it is likely that Singapore is better export competitiveness
than Thailand.

In conclusion, when economists compare economic performance across countries, the
indicators mentioned in the table can be used. Thus, based on the 4 indicators, Singapore is
fikely to perform better than Thailand in 2021 because of its higher PPP adjusted GDP per
capita and balance of trade. Even though Singapore's inflation rate and unemployment rate are
slightly higher than Thailand, they are still considered in the low and stable range and thus
overall, Singapore is likely to perform better. In addition, it also may be necessary for
economists to know at which stage of economic development a country is in as it may be an
important factor determining growth rates. For instance, developing countries tend fo register
high growth rates compared to developed countries because the potential for growth may be
so much more when a country is at its early stages of industrialisation. Hence, lower growth
rates of developed countries compared to developing countries may not necessarily mean that
the economic performance of developing countries is always better. Many other considerations
have to be taken into account to come to an accurate conclusion regarding the economic
performance of different countries.
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An answer that provides a clear and thorough explanation of alf the data
in the table, with PPP adjusted GDP per capita being well explained.
L2 An answer that provides a good explanation of some of the data in the 5-7
table.
L1 An answer that demonstrates weak knowledge and application of the | 1-4
indicators in the table, possibly with multiple conceptual errors.
Partb
Thesis:
Standard of living (SOL) refers to the well-being of an average citizen in a country. A country’s

standard of living (SOL) can be determined by both material and non-material aspects. Material
SOL measures the amount of goods and services that individuals within the country have
available for consumption while non-material SOL refers to the quality of life and is influenced by
ﬂ=<=o:3m=$_ and socio-economic factors such as stress levels and life expectancy. Economic
growth rates, which is typically computed using the changes in real Gross Domestic Product (GDP)
figures over a given time period, may be the main cause of higher living standards in a country
when there are higher economic growth rates. With a higher economic growth rate, it would mean
that more goods and services are produced and atthe same time, employment levels will increase
as more factors of production are needed to produce the increase In goods and services.
Therefore, one gets to enjoy more goods and services for consumption. This likely transiates to
higher material SOL in the country over time.

Anti-thesis:

However, the main cause of higher living standards in the country could be due to the
government policies that are implemented. For example, in Singapore, the goverment collects
the tax revenue through corporate income tax, personal income tax and goods and services tax.
Some of the revenue collected are being redistributed to the lower-income group in the form of
GST vouchers, utility rebates, top-ups for children's education, CDC vouchers. These policies
would help majority of the population to be able to consume more goods and services, thus
increasing their SOL. In addition, the Singapore government also spends huge amount on
initiatives such as Skills Future, which focuses on education and training to counter the increasing
burdens of shrinking workforce and declining productivity growth. These initiatives help to create
employment opportunities and also increase the wages of Singaporeans as their productivity
increases. As such, this can increase the amount of goods and services that Singaporeans can
afford and thus, improve their material SOL. As workers' productivity increases, they might spend
less time on work to produce the same amount of output. This frees up more time for leisure,
which improve their non-material SOL in the future too. Thus, the policies and the active pursuit
of government spending on these areas could be the main cause of higher living standards in the
country.

Another possible main cause of higher living standards in a country could be due to changes in
the size of population (population growth rate). Take for instance, the economic growth rate may
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Question 6

Globalisation powered the surge of international trade since 1890s, and the world trade to GDP
ratio has tripled to 52.1% by 2020. Its effects on economies are multi-faceted, ranging from higher
vulnerability to external shocks and making supply chain more global, where production is broken
into activities and tasks carried out in different countries. However, in recent years, there seems
to be signs of slowing down of globalisation.

Discuss whether globalisation is always a victim of its own success. [25]
Suggested answer:

Globalisation is the process through which an increasingly free flow of goods and services, capital
and labour results in closer integration of economies in the world. The success of globalisation is
driven by the greater awareness of governments that enabling the free movement of goods and
services, investment capital and labour, across national borders raises the standard of living over
time more quickly than to restrict their movements. However, in recent years, the costs of
globalisation have led to governments to reduce its' reliance on external sources for growth,
focusing more on intemal sources instead. As such, globalisation may be a victim of its success.

The economic concept behind the success of globalisation is the countries’ greater awareness of
the benefits of trade explained in the theory of comparative advantage. A country is said to have
comparative advantage in producing a particular good if it can produce it at a lower opportunity
cost (giving up less of another good) than other countries. This concept is embodied in trade
theory (also known as the theory of comparative advantage). In its simplest form, the theory
predicts that in a two-country two-good world, if each country specialises in the good in which it
has a comparative advantage and then trade some of it for the other good on the basis of a terms
of trade (TOT) that lies between the domestic opportunity cost prevailing in each country, then
consumption of both goods will be greater for each country than if each of them tried to produce
the two goods themselves without trade.

The reason for the increased consumption for each country is that by specialising according to
the principle of comparative advantage, a more efficient allocation and use of resources of the
two countries have resulted: each country will produce the good where its relative efficiency is
greatest. The insight of this economic concept is that every country has a comparative advantage
in at least one good and therefore it should exploit that comparative advantage and produce more
of that good than it needs and trade the extra units for other goods that it requires from another
country. By being willing to import goods that it has a comparative disadvantage, the country will
enjoy a higher consumption level, hence a higher material standard of living.

This realisation of the benefits of trade according to the principle of comparative advantage has
led many governments to seek trade opportunities. And in this regard, they have been helped by
the World Trade Organisation (WTO) whose purpose is to provide a forum for countries to meet
and negotiate for reduction of obstacles to international trade. Since its inception in 1995, the
WTO has organised several rounds of tatks among countries to hasten the removal/reduction of
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barriers to trade. Thus, the willingness of governments to reduce trade barriers together with the
work of the WTO is one reason that accounts for the trend towards globalisation.

Also, the progress of technology has also highlighted the success of globalisation. Through
improvement in technology, costs of communicating information have fallen dramatically since
the post-war period. In particular, the rapid spread of IT and communications lowers barriers to
entry that enabled large economies like India and China to open their economies and tap on
booming IT and manufacturing markets.

Another reason for the trend towards globalisation is the dramatic fall in transport costs over time.
For example, shipping costs today have fallen by half while air transport costs have fallen to one-
sixth of costs in the 1930s. This fall in transport costs have removed a major barrier to trade where
in the past, high transport costs used to prevent trade even when differences in comparative
advantages exist among countries: the high transport costs would have made the imported goods
more expensive to buy than to make domestically. Hence, fall in transport costs account for a part
of the trend towards more trade which is an aspect of globalization.

In some cases, globalisation is a victim of its own success. As the globe becomes increasingly
more integrated and interconnected, economies are now more vulnerable to external shocks
especially in terms of supply chain disruptions. As supply chain becomes more global- the
implication of this success may lead to an increase in cost push inflation. For example, in the case
of a breakdown in one part of the globa! supply chain such as the Fukushima earthquake and
lockdown due to the Covid 19- pandemic, the whole network is impacted leading to defays and
disruptions in the transport and movement of goods. This can push up the prices of the factors of
production leading to an increase in cost of production causing a fall in the SRAS from AS1 to
AS2, resulting in cost push inflation as shown by an increase in general price level from P1 to P2
(Fig.1) . Atthe same time, firms faced an increase in costs which will reduce profits or resulting in
greater losses. These costs of globalisation have propelled firms and governments to make their
supply base more resilient by increasing their domestic production, grow employment in their
home countries, to reduce their dependence on sources. Furthermore, commodity exporting
countries such as india and Egypt are starting to restrict food exports in order to meet the domestic
demand of their local firms, resulting in a slowdown in globalisation.

General Price Level
ASy

] AS
P

AD

l‘ln\\\

v Y v + Real National Qutput

Fig. 1: Cost Push Inflation

Globalisation may lead to higher level of structural unemployment and an increase in inequity.
This is felt more severely in developed nations such as the United States (US) and EU where jobs
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